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©OAEI = X
o ™MAH Y

(u]

=4

o _l_i =
D AW HAE 84 (St &)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
11T MISAASEX 224,000 0 224,000
O&A4d &t o3t 0l 2 G X& 224,000
2 112,000
Al 112,000
NEdLE B0HAR}S 22 2,800 2,800 0
| 1,400
Al 1,400
307 21201 A 2,800 2,800 0
| 1,400
Al 1,400
10 M2 SXNANEHE2IHEX 2,800 0 2,800
OXNgdEA~Yd WS 29 2,800
| 1,400
Al 1,400
HdAad SEXNE MAHARS 159,300 137,226 22,074
| 66,150
Al 93,150
307 glz2tol & 159,300 137,226 22,074
| 66,150
Al 93,150
10 M SXNANEHI2IHE=X 132,300 137,226 AN4,926
OFAHME=ENHEH 2 132,300
cHAUSEXNIMHAASF(CYS-NET) Y &t =
& one-stopXl & 132,300
J| 66,150
Al 66,150
11T MISRASEX 27,000 0 27,000
OFAGEXNL LAY 27,000
A 2L AU (AL =S X1t 212,334 241,237 A 28,903
=2 27,360
Al 184,974
ol 2d | 182,174 211,077 A 28,903
= 27,360
Al 154,814
ol 2AY| 154,814 185,222 A 30,408
101 1A bl 154,814 185,222 A 30,408
03 RINAA2ZIE S 154,814 185,222 30,408
ORI & &EE AL2e 224 B 127,920
=Jl2g 49,270% * 49 * 250 49,270
o= 49,270,000& * 4/12 16,424
cHXURSFINYE 49,2703 * 4% » 21 4,139
cSAAAZIRE
9,238 * 4H * 20AI2t » 12 8,869
o H & F I 400,000& = 48 « 23| 3,200
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2AM: A=K
M HNSHAAH| (AL =X )

ool oz ey (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oxdZESd
73,9043 * 4Y « 52 x 12& 17,737
oFFd 49,2703 * 4Y » 52¢ 10,249
o Jtat 3 49,270,000& = 10/100 4,927
ocXA+g 100,000& » 4H » 128 4,800
o g &l 80,000& = 4H « 123 3,840
o XM &HI 111,615,000 * 4.0/100 4,465
OFAEUZsAE FA2Ze 22X B 26,894
=Jlza 44,6403 * 1% = 250 11,160
SR IGES 11,160,000 = 4/12 3,720
CcHXURSFINTE 44,6403 ~ 18 » 21 938
oAN22A2RFE
8,370% * 18 » 20AI2t » 123 2,009
© 2 H & H| 400,008 * 1% * 23] 800
cpYRLY
66,9603 * 1 + 52 » 123 4,018
oFF 44 6403 * 1% = 52 2,322
oz &l 80,000& = 18 = 12& 960
SPSEY Fall| 24,167,000% * 4.0/100 967
QIARHHI(SHAEE) 27,360 25,855 1,505
= 27,360
101 @14 Hl 27,360 25,855 1,505
= 27,360
03 RIAHAZ 2T E =+ 27,360 25,855 1,505
OEZYAEE Ot=SEMERA 2AAHH(1H) 21,000
SEASPN 1,750,000& » 1H 128 21,000
= 21,000
C4liEd JI& €3 21,000,000& * 10% 2,100
= 2,100
OAlZ+2 =% 170,000& » 1H 128 2,040
= 2,040
O&X=H HEg3 1,920
= 1,920
Oul=l 300,000& = 13| » 1&H 300
= 300
Jl23&dl 30,160 30, 160 0
1= Al 30,160 30, 160 0
201 et 24,360 24,360 0
01 At 22l 22,560 22,560 0
ORA2Y JI23Hl 300,000& = 123 3,600
OANREE FS(SAMX &) 200,000& 128 2,400
O#EANRII ABE 2¢
300,000 = 8CH = 23l 4,800
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S MBI =X
M HNS2AAY (A =X D)
S J|=2AH|

SA - ZE-B(EA) - NRAY - B S il &t o il

Oz &l 7,000& * 209 « 72 * 123 11,760

02 =24l 1,800 1,800
ORERS 150,000& * 12& 1,800

202 o4dl 1,600 1,600

01 = LH o4 1l 1,600 1,600
OHI&4Z2 2O 1,600

203 YR =& 4,200 4,200

04 FN2IEHSFAH 4,200 4,200
ORA2EIRFAHI 350,000& = 123 4,200

MEES (A=K D) 100,000 100,000

HEHHK = 100,000 100,000

LHEHHXI & 100,000 100,000

702 JISHES 100,000 100,000

01 JI38&E= 100,000 100,000
OHdeEIIg BES 50,000
OFMA=RINS BES 50,000
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